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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer all questions from  1 to 8.

Each carry one score.

1. ........ method of social work find

the solution for mass social

issues through propaganda,

public opinion and collective

support.

2. Children in conflict with law is

known as .........

3. ......... is known as "Magna Carta"

of human rights.

4. Dowry Prohibition Act is an

examples of .........

a) social reform

b) social security

c) social welfare

d) social legislation

1 oOf¤ 8 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. Nk\qeU, RkLfO^jLn]NkLpU,

RkLfO^j k]ÍOe IÐ]vp]sPRa

^jW}p v]xp°¥¨V kq]zLqU

WLeOÐ SyLx|¤ v¡¨V

q}f]pLeV .................... .

2. j]povOoLp] yUZ¡x¾]¤

AWRÕaOÐ WOŸ]WRt ......................

IÐr]pRÕaOÐO.

3. ojOx|LvWLw¾]R£ ""oLYVj WL¡Ÿ''

IÐr]pRÕaOÐfV ................... BeV.

4. yVNf}ij j]SqLij j]poU ..............jV

DhLzqeoLeV.

a) yLoPz]W kq]xVWqeU

b) yLoPz]W yOqƒ

c) yLoPz]W SƒoU

d) yLoPz]W j]po j]¡ÚLeU

(8 × 1 = 8) (8 × 1 = 8)
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5. Among the following which is

NOT an association.

a) Student's Union

b) Farmer's Welfare Society

c) Religion

d) State

6. Woman committing suicide due

to the death of her husband is an

example of ........ type of suicide.

a) Altruistic

b) Egoistic

c) Anomic

d) Fatalistic

7. According to psycho-analytic

theory ......... is the executive of

our personality.

a) Ego

b) Unconscious mind

c) Conscience

d) Subconscious mind

8. Choose the odd one from the list

of life skills given below.

a) Creative thinking

b) Problem solving

c) Decision making skill

d) Interpersonal relationship

5. fLRu fÐ]q]¨OÐvp]¤

ASyLy]Spx¢ AsæL¾fV JfV?

a) ðOc£V pPe]p¢

b) lL¡SouVyV Rv¤Rlp¡

RyLRRyã]

c) ofU

d) SðãV

6. n¡¾Lv]R£ oqeU fL°LjLvLRf

nLq| BfVozf|R\áOÐfV ............fqU

BÄzf| V̈ DhLzqeoLeV.

a) B¥NaPp]ð]WV

b) CTSYLp]ã]WV

c) ASjLo]WV

d) Slãs]ð]WV

7. oSjLv]wWsj y]ÈLÍ NkWLqU

................ BeV jÚORa v|©]f~

¾]R£ IWVy]W|PŸ]vV.

a) CTSYL

b) ASmLiojôV

c) oj@yLƒ]

d) DkSmLiojôV

8. fLRu RWLaO¾]q]¨OÐ ^}v]f

RRjkOe]Wt]¤ j]ÐV WPŸ¾]¤

RkaL¾f]Rj RfRqR´aO¾V

IuOfOW.

a) y¡«LfVoW \]Í

b) NkwVjkq]zLqkLavU

c) f}qOoLjU IaO¨LjOtt kLavU

d) v|©]pLÍq mÌ°¥
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Answer all questions from  9 to 14.

Each carries two scores.

9. List out any four skills required

for a social worker.

10. What is the difference between

social insurance and social

assistance?

11. Distinguish between equity and

equality.

12. Write any four roles of social

worker in school setting.

13. What is critical thinking? How

does it contribute to decision

making?

14. Differentiate between growth

and development.

9 oOf¤ 14 vRq IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 2 yVSWL¡ v}fU.

9. KqO SyLx|¤ v¡¨¡¨O Svº

JRfË]sOU jLsV RRjkOe]W¥

IuOfOW.

10. SyLx|¤ C¢xOr¢yOU SyLx|¤

Ay]ð¢yOU fÚ]sOtt v|f|LyU

IuOfOW.

11. CW~]ã]pOU CW~Lt]ã]pOU fÚ]sOtt

v|f|LyU IuOfOW.

12. yVWP¥ Ryã]U°]¤ SyLx|¤

v¡¨rORa jLsV W¡¾v|°¥

IuOfOW.

13. IÍLeV v]o¡wjLfVoW \]Í?

CRf°Rj f}qOoLjRoaO¨s]Rj

yzLp]¨OÐO.

14. vt¡\ÿpOU v]WLyvOU fÚ]sOtt

v|f|LyRoÍV?

(6 × 2 = 12) (6 × 2 = 12)
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Answer all questions from

15 to 18. Each carries three

scores.

15. Prepare a Venn diagram

showing the relationship

between social work and related

disciplines.

16. Kerala has faced serious flood

disaster recently. What is

disaster? Suggest four measures

to manage the disaster.

17. Write any three remedial

measures to reduce violence

against women.

18. What is decision making?

Explain 'POWER' model of

decision making.

Answer any three questions

from  19 to 22. Each carries four

scores.

19. Define social work. Write any six

characteristics of social work.

15 oOf¤ 18 vRq IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 3 yVSWL¡ v}fU.

15. SyLx|¤ v¡¨OU AjOmÌ

kbjwLXWtOU fÚ]sOtt mÌU

WLe]¨OÐ Rv¢ cpNYU

fáLrL¨OW.

16. AaO¾ WLs¾Lp] SWqtU

YTqvfqoLp Nktp hOqÍR¾

An]oOX}Wq]\ÿO. hOqÍU IÐL¤

IÍV? hOqÍU RRWWLq|U

R\áOÐf]jLp] 4 j]¡SÇw°¥

j¤WOW.

17. yVNf}W¥¨O SjRqpOtt Af]NWo

°¥ WOrpV¨OÐf]jOtt oPÐV

kq]zLq jaka]W¥ j]¡SÇw]¨OW.

18. IÍLeV f}qOoLjRoaO¨¤?

f}qOoLjRoaO¨s]jV yzLp]¨OÐ

'POWER' oLfQW v]wh}Wq]¨OW.

19  oOf¤ 22  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

19. SyLx|¤ v¡¨]Rj j]¡vÿ\]¨OW.

SyLx|¤ v¡¨]R£ JRfË]sOU BrV

yv]SwxfW¥ IuOfOW.

(4 × 3 = 12)

(4 × 3 = 12)

(3 × 4 = 12) (3 × 4 = 12)
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20. Farmers are the backbone of

every community. But they

struggle for their existance.

Examine the major problems

faced by the farming community.

Suggest remedial measures to

improve their situation.

21. Structural analysis is an

important method used in social

analysis. Explain the four pillars

of structural analysis.

22. What is personality? Briefly

explain any six determinants of

personality.

Answer any two questions

from  23 to 25. Each carries five

scores.

23. Man is born as a biological being.

He gradually becomes a social

being by the process of

socialization. Describe the

various agents of socialization.

20. JRfLqO yoPz¾]R£pOU jRŸsæV

W¡xWqLeV. IÐL¤ Av¡

j]sj]¤k]jLp] mOÈ]oOŸOÐO.

W¡xWyoPzU An]oOX}Wq]¨OÐ

NkwVj°¥ JRfLR¨pLReÐV

kq]SwLi]¨OW. AvqORa Avò

Ro\ÿRÕaO¾OÐf]jV kq]zLq

oL¡«°¥ j]¡SÇw]¨OW.

21. yLoPz]W v]wWsj¾]Rs KqO

NkiLj q}f]pLeV ZajL v]wWsjU.

ZajLv]wWsj¾]Rs jLsV

fPeOW¥ v]wh}Wq]¨OW.

22. IÍLeV v|©]f~U? v|©]f~R¾

j]¡¹p]¨OÐ JRfË]sOU  6

ZaW°RtWOr]\ÿ V  sZOvLp]

v]vq]¨OW.

23  oOf¤ 25  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

5 yVSWL¡ v}fU.

23. ojOx|¢ KqO mSpLt^]¨¤

^}v]pLp] ^j]¨OÐO. yLoPz]WvfV

¨qe NkNW]pvu] ApL¥

yLvWLwU KqO yLoPz]W ^}v]pLp]

oLrOÐO. yLoPz]WvfV¨qe¾]jO

yzLp]¨OÐ J^£OW¥ Jv?

(2 × 5 = 10) (2 × 5 = 10)
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24. Write a brief note on multiple

intelligence theory proposed by

Howard Gardner.

25. Describe the stages of Psycho

sexual development in the

personality development of an

individual as proposed by

Sigmund Freud.

Answer any one from question

numbers 26 and 27.

26. There are certain rules and

guidelines that should be

followed in every profession.

These rules and guidelines are

called principles. Write down

the principles of social work

profession.

27. Social control ensures social

order. Explain the various

means of social control. In your

opinion which type of social

control is more effective?

Substantiate your answer.

24. zvL¡cV YL¡cjrORa o¥Ÿ]Õ]¥

C£s]^¢yV y]ÈLÍR¾¨Or]\ÿ V

KqO sZO WOr]ÕV fáLrL¨OW.

25. y]YVoºV SNlLp]c]R£ y]ÈLÍ

¾]R£ Aa]òLj¾]¤ KqO

v|©]pORa v|©]f~ v]WLy¾]Rs

oLjy]W RRsUY]W v]WLy ZŸ°¥

v]vq]¨OW.

26 DU 27 DU S\Lh|°t]¤ JRfËsOU

KÐ]jV D¾qRouOfOW.

26. IsæL RNkLlxjOU \]s j]po°tOU

oL¡« j]¡SÇw°tOU k]¢fOaqOÐO.

C¾qU j]po°¥¨OU oL¡«

j]¡SÇw°¥¨OoLeV ff~°¥ IÐV

krpOÐfV? SyLx|¤ v¡¨V

RNkLlx¢ k]¢fOaqOÐ ff~°¥

IuOfOW.

27. yLoPz]W j]pNÍeU yLoPz]W

NWoU DrÕV vqO¾OÐO. yLoPz]W

j]pNÍe¾]R£ v]v]i oL¡«°¥

v]wh}Wq]¨OW. j]°tORa

An]NkLp¾]¤ JfVfqU yLoPz]W

j]pNÍe oL¡«°tLeV WPaOf¤

lsNkhU? j]°tORa D¾qU

yLiPWq]¨OW.

(1 × 6 = 6) (1 × 6 = 6)



K-21 8

FY 42




